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Test 2 (Unit 3) version 2

Question 1.
Simplify:
“3x3 — Ba?2 — 6z —
95 4 1002 125 T F L 06
O A __‘gxz _ %x
OB z3-:z2 -3z
r + 3
O C. o
r—3
O Db. r+ 6
Question 2.
Simplify the following expression.
2 + 7r + 10
r+5
OA. = +2
oB. 248z 45
Oc. T2+ 1ldz +15
Question 3.

Simplify the expression given below.

(522 — 9z + 25) + (723 — 1222 + 17z — 18)
OA. —Tz3 — 7z2 4 8z 4 43
oB. Tz? —17z? 4+ 260 + 7

oc. Tz3 —7z2 48z 47
op. 7z3 - 7x? 4 26z + 43
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Question 4.
Which binomial is a factor of x* + 7x + 10?
OA. (x+1)
OB. (x+5)
OcC. (x-2)
OD. (x+10)
Question 5.
Order the following numbers from least to greatest.
33,2 vz, 31
16 5
OA. §,3.1,3.2,\/E
16 —
OB. 3.1, T , 3.2, V12
16 —
Oc. v , V12,31, 3.2
E —
OoD. V12, 5, 3.1, 3.2
Question 6 .

Simplify the following expression.

3x% — 24517
5 — Bzl3
OA. —3zB
op. 6z%
oc. 3zt
Op. 3z¢
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Question 7.

Question 8.

Question 9.

Factor the polynomial below.

X +Tx+6
OA. (x-1)(x-6)
OB. (x+1)(x+86)
OC. (x-1)(x+6)
OD. (x+1)x-6)
Simplify the following expression.

22 — 200

2 4+ 20z + 100

OA. ')i: t 1200

2z — 20
OB. %10

9z — 20
OC. 2710
2z + 10
OD. 2r — 20

Simplify the following expression.

(3x - 8)(3x + 8)
OA. 9216
OB. 9y2+48x-64
OC. 9x2_48x-64

OD. 9¢-_64
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Question 10 .

Factor the following polynomial completely.

OA.

OB.

Oc.
ODb.

Question 11.

-3x% - 9x% + 30x

-3x(x + 5)(x - 2)

-3(x% + 3x2 - 10x)

3x(x + 5)(x - 2)

S3(x% + 5)(x + 2)

Factor the following polynomial completely.

OA.

OB.
Oc.
OD.

Question 12..

0.6x*-3.6x+3

-0.6(x* + 6x + 5)
0.6(x - 1)(x + 5)
0.6(x - 1)(x - 5)

0.6(x%- 6x + 5)

Page 4 of 8

Whitley has run 19 miles. His slowest running time for a mile was 9 minutes and 14 seconds.
His fastest running time for a mile was 7 minutes and 58 seconds. What is a reasonable

estimate for how much time Whitley has spent running these 19 miles?
OA.
OB.
Oc.
OD.

Question 13 .

190 minutes

304 minutes

114 minutes

161.5 minutes

A polynomial expression is shown below.

(4z? + 322 — 1) + (mx3 + (322 + 1)

The expression is simplified to 15x° + 4x* + 5x> + 9x% + 1.

What is the value of m?

O A

O B.
O c.

O D.

3

3

5

15
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Question 14 .

Simplify the expression given below.

(1623 — 2) — (1423 — 30)

OA. 2z3 + 28

oB. 2z3 + 14z — 28

oc. 14z3 — 1122 4 28

op. 16x% —13z2 4 32
Question 15 .

Simplify.

V200

OA. 10v2

OB, 100v2

Oc. 20/10

op. 210
Question 16 .

Multiply: (2x = 5)(@x2 + 7x - 11)

O A g -6x2-57x-55

© B. 8y’ -6x2-57x+55

© C. g-57x+55

O D. gx®-34x2 - 57x+55
Question 17 .

35x%z3  25x%y
What is the greatest common factor (GCF) of the monomials shown above?
OA. 175y
OB. 175427
OC. 5y4y,8

OD. 5X3y
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Question 18 .

Simplify the following expression.

zd 4+ 4z — 32
(r + 8)(z + 2)

—

OA.

=]
|
B

OB.

5]
+
B

]
-+
=]

OcC.

]
+
[ 5]

=]
|
S

OD.

Bl
+
[ ]

Question 19 .

When factored completely, which is a factor of 3x° — 9x% - 12x?
O A (x-3)

O B. (x-4)

Oc. @Gx-1)

O D. (3x-4)

Question 20 .

Solve the following.

\fﬁ X 3\1@ = 7
OA. 6
oB. 8
Oc. V5
op. °
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Question 21 .
Simplify the following expression.
(2x-11)?
OA. 42+ 44x+ 121
OB.  4x-44x+121
OC. 4x-121
OD.  4x%.22x+121
Question 22 .
Factor the following polynomial completely.
9x> - 90x% + 216x
OA. 9x(x-4)(x-6)
OB.  _9(x®+ 10x + 24)
OC. 9(x®-10x2 + 24x)
OD. 9x(x-4)(x+6)
Question 23 .

Simplify the following expression.

Az7 — Brd
23
OA. —4z%
oB. z* -6
oc. =% 43
op. =% -3
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Answers
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15.
16.
17.
18.
19.
20.
21.
22,
23.
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